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8.

10.

A particle of mass 1 mg has the same
wavelength as an electron moving with a
velocity of 3 x 10% ms™t. The velocity of

the particle is
(Mass of electron= 91 x 10731 kg)

(A) 27 x 1078 ms™?
(8} 9 x 107 ?ms™?
© 3 x 1073Ims™*

() 2.7 x 107**ms™?

Calculate the energy in joule corresponding
to light of wavelength 45 nm : (Planck’s
constant h = 6.63 x 1073* Js; speed of

light ¢ =3 X 10%ms™)
(A) 667 x 10%°

{c)
1%y

¥}

I )

[y

a4 ~e
=TT S
In measurement of radius of a sphere,
percentage error is 1%. What will be error in
volume of sphere ?

{A) 3% {B) 5%
A 7% (D) 1%

8.

9;

1 mg SEFM & TF B B e B
A 3 x 1084 @ 9T W M

P §A I P aNEx © | B B
T BRT
(FAF BT FFEM =

9.1 x 1073 kg)
W) 27 x 107844

8) 9 x 107 %5/
© 3 x 10742

B) 27 x 107 &H42

gre R TR 45 nm ®, B el
Ja H B (wie e
h=663 X10 33,

wrwEminc=3 X 1{}3%&&%)

(A} 67 x10% (B] 442 x1071¢




1. A planet moving along an elliptical orbit is
closest to the sun at a distance r, and

farthest away at a distance of r,.If v, and

v, are the linear velocities at these points

v
respectively, then the ratio of —is

Vs
(A) Tz (B) sryN\2
(€ T1 (D) sr;\2

Tz (;

12. A p-n photodiode is made of a material with
a band gap of 2.0 eV. The minimum
frequency of the radiation that can be
absorbed by the material is nearly

(A) 5 x 10**Hz (B 20 x 10**Hz

© 10 x 10**Hz O 1 x 10'*Hz

13. The root mean square velocity of a gas is
doubled when the absolute temperature is
{A) increased four times

{B) increased two times
{€) reduced to half

(D) reduced to one fourth

1 I b FRI AR UF TE F JATER BelT
4 el @ oq I g« o, @

AHH & p, T FA @ F | AR
37 fogell W Wy =@ wEeE oy, @
v, 8 @ f:—; HT I &
(n Iz (8) [frz*)?
r; \’fl!
(© It () (n«j
Iz \ry
2T p - n BRREERS 20 eV I8

NI & Uerd W g g | w9 uerd
ERT Seie RfFzer & <ad smghy
ST BN

(B 5 % 1014 B

) 20 x 10%¢ B
© 10 x 10t &
®) 1 x 101 B
B fBell I P T qaT W IT (rms)

TET 8RN, 99 KT &1 WRE 94
(A) IR AT T |

(B) & AT g |
(© 3mr fHar SR |
(®) g drRms BN
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14. The IUPAC name of

15.

18.

17.

CHy —~CH-CH=C—CHO
| ! is
OH CHy

{A} 4 - hydroxy - 1 - methylpentanal
(8) 2 - hydroxy - 3 - methylpent-2-en-5-
al

{Q) 4 - hydroxy - 2 - methylpent-2-en-1-
al

{D) 2 - hydroxy - 4 - methylpent-3-en-5-
al

Geometry of BF, is

{A) tetrahedral

(©) trihedral

{B) pentagonal

(D) trigonal planar

Two thin lenses of focal length ’f;”and 'f,’

are in contact and co-axial. The power of the
combination is
(A 8 [

\
+ 1) o+ 5

Acidity of phenol is due to
(A) hydrogen bonding (B) phenolic group

Q) benzenering

(D) resonance stabilization of its anion

S e B e R | T

15.

17.

CHs -—i;H—CH:L;—iZHO
OH  CHs

A 4 - BTgQIRI - 1 - AR YA

B 2 - grEgEl - 3 - AT UT - 2 -
31 - 5 - I

© 4 - grggEdl - 2 - ¥R UT - 2 -
-1 - 3

D) 2 - RN - 4 - AT U< - 3 -
1 -5 -

BF, @ SOy ¥Re=T 8l

(A} TIEHADBIT (B) Gty

€ Beaeg

) FAfEeR BEniy

g @ g wow qRE B D TR

P WA (AER) BRI
V. (8)

l

i
fz 5 fl
g B
Ve NE
© (E+fh) O H+6
fi : i:2 : 2

feter # arerar BRil &
(A) FESNT T F BROT
(B) f%elel qU & SR
© I=MF 1 & RO

@) 39 gAT & AR ReNieRo &
BRI




18.

19

The wave described by vy 0.25 sin
(10mx — 2mt), wherex and y are in

metre and t in second, is a wave travelling
along the
{A) +ve x direction with frequency 7 Hz and

wavelength 2=0.2m
{8) -ve x direction with frequency 1 Hz

(@) +ve x direction with frequency 1 Hz and

wavelength2=0.2 m

{D) —ve x direction with amplitude 0.25 m |-

and wavelength 1 =0.2m

In an uniform electric field one oil drop of | 1e.

0.002 miligram mass and 6 electronic charge
is stable in air. What will be intensity of
electric fieid ?

(A) 2.04 x 1010 N/C

(8) 2.04 x 108 N/C

© 204 x 10° N/C

(D) None of these

Complete the following reaction :
P, + NaOH +H;,0 — 7

(A) PH, + Na,HPO,
(8) PH; + NaH,PO,

(© H;PO,+ NaO (P) PH, + Na,PO,

- Volume of H, gas occupied by its one gm

equivalent at STP is

18.

20.

21.

T H O T -y 0.25 sin
(10 mx — 2 mt), T9H x T y Hew §

TN TGt OH | gE Qe TRy e
W E
A gITHS o o F, smgRy o gest qur

TRE ) = g2 W
®) omeis o e § o emgRy 1 ges

© oS o e ¥, MRy 1 geS o
TEeE ) = 0.2 #)

©) FoTHe . fowm ¥ sm@m 0.25 #.
T TR ) = g2 W

0.002 iU s=@M gl T 6
ST S AT A LR TP 9T B I
THETE 9Ea &9 § ReR @ed) € |

A 204 x 10 N/C
® 204 x 10% N/C
© 2,04 x 10%N/C

0) 99 q B T

=1 st oof SikR
P, +NaOH +H,0 —> ?

(A} PH; + Na,HPO,
(8  PH; + NaH,PO,
(©  H,PO, + NaO
() PH, + Na, PO,

BRSNS N & AME 99§ W) %
T IS BT ARTT BN

{A) 11.2 litre (8) 22.4 litre (A) 11.2 = (8) 22.4 ft
(©) 1.0 litre (D) 5.6 litre © 10 =i D) 56 o).
Page: 7




1.

ECTION - i
PHYSICS & CHEMISTRY

For the valence electron in copper, the four
guantum numbers are

(A) . 1
n=4Il=-1m=40,s= 5
(B) , 1
n=4{=0m=+42,5s= —
7
(€ 1
n=4l=1m=+2s= -?-:
(D) P 1
i’?:é‘,i:?&;ﬁi:wﬁzz
F-5

Which of the following statements is correct
for the spontaneous absorption of a gas ?
(A) ASis negative and therefore, AH should

be highly positive.

{B) ASis negative and therefore, AH should
be highly negative.

(€) ASis positive and therefore, AH should
be positive.

(B) ASis positive and therefore, AH should

be negative.

A boy standing at the top of a tower of 20 m
height drops a stone. Assuming
g = 10m/s?, the velocity with which it hits

the ground is
{A) 20 m/s

{€) 10 m/s

(B) 40 m/s
(D) 5m/s

1.

Gvs - 1T
Hifie s vd e Rsme

a9 (Cu) & SO saoeE @ 9Ri
HTeq I g8l
(A) ) , 1
n=4l=-1m=0s= —
2
(B) . 2 1
n ‘iﬁi‘.-—-iﬂ)ii—-?,i—;‘z‘
(© ) 1
n=4l=im=42,5= -
(D)
n=4[l=0m=0s= —

= 4 9 e 9 sy W A9
& A JIIANY B YR PR & 2
A AS HUTEHS T AT AY IARD
gTHG BT |
AS TEUTHS © ok
HOTHEG R |
€ AS 999 ® T ST AY I9HG BN
|
@) AS U9ASG § ST AN HUTHS BN
I

U6 dSa Bl 20 Ak &) MR ¥
% TR R & | o @R &1
a_ g:m;g;;fr@?%lq'mmﬁﬁw

&9 971 O e 2
(A) 20 H.A. () 40 #H./<4.
© 10 /4, (o) 5 H.MA.

(8) AH ITR¥H

D ——




The circuit is equivalent to

Y
R :
A

NOR NAND  NOT
(A) OR gate () NAND gate

{€) NOR gate (D) AND gate

The half life period of a first order process is
1.6 min. It will be 90% complete in
(A) 43.3 min (8) 99.7 min

{C) 5.3 min {D} 10.6 min

Of the following outer electronic
configurations of atoms, the highest
oxidation state is achieved by which one of
them ?

(W) (n- 1)d5,ns! (8 (n- 1)d® ns?

(© (n-1)d3ns? © (n- 1)d® ns?

At 10 °C the value of density of a fixed

mass of an ideal gas divided by its pressure
is x.At 110 ®(Cthisratiois

(A} 10 (B) x
110 ~
© 283 ) 383
x s=a——
383 283

4 gRUY HAGS BN

A
v
B
NOR NAND NOT

(A) OR gate (B} NAND gate
{© NOR gate (b} AND gate

T pife P AMAHAr H1 3l Shaore
1.6 e & | f5an W # I 90% IO
BT 2

(A) 43.3 fFe (8) 99.7 f&mc

(© 53 fiFc (D) 10.6 fiFe
ﬁﬂﬁi1®'$%1¢rgﬁﬁ'3ﬁﬁﬂﬁﬁﬁ1%€ma

10°¢ R &f ol 9 5 @
MRag soowm & U9 991 TE @l

U x B | 11p°C W TE UM
BRI
(10 (B) x
—_—
110
(© 283 " 383
383 283




22. A mass of diatomic gas

(y=14)ata

pressure 2 atm is compressed adiabatically
so that its temperature rise from 27 °Cto

927 °(. The pressure of the gas in final state
{A) 68.7 atm
() 8 atm

(8) 28 atm
{D) 256 atm

23. The vacant space in bcc lattice cell is

(A) 23%
(©) 26%

(B) 32%
(D) 48%

24. The rate equation for a reaction A —Bis

r = K[A]> If the initial concentration of ‘A’

is‘a’ mol dm™3, the half-life period of the

reaction is

(n) 2 (8 4
2K K

© 2a o K
K a

25. A silver cup is plated with silver by passing

965 coulomb of electricity. The amount of
Ag deposited is
(A) 1.08 g

(c) 107.89 g

(8) 1.0002 g
(D) 9.89 g

2. Two nuclei have their mass numbers in the|:

22.

24,

e W =14 P W@

o Pl GES UHH ¥ 2 atm P
=qrg ¥ GElifed fear 9@ 8, 99 ST
qT geBR 27°C W 927°C © S

2| aftqm Rafy § 7 &1 <19 8FN
(A) 8.7 atm (B) 28 atm

(0 8 atm (D) 256 atm

bee WTa® da ¥ Req w0 87l ©

(A) 23% (B) 32%
€ 26% (D) 48%
el affrar A p & ford sfdfehan
T L r=K[A]° &N Tl B |

afr A BT URRMS ArEul @ Al
ﬁ}iﬁ—3 %, Fh' 3:”‘\'”332” DI C’ﬂéﬁaiaﬁ

BTl BT -

(A) - (8 2
2K K

© Z2a oy K
K a

% R 9 ® RieR @R & ®/a
I9 ¥ o 965 HaM @ fEd waid
N o & | A @ e " S|

2rl 2
(A) 1.08 UM (B) 1.0002 M
(€ 407.89 UM (D) 9.89 UM

o e & URE] SEAM 1 3 B

ratio of 1 : 3. The ratio of their nuclei| gorur ¥ § | ST TG TG B
densities would be U BRI
A * B .t A - B =
W 3:1 ® (3 W 3:1 R
© 1:3 o 1:1 (© 1:3 o 1:1
Page: 8
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2. ER (Diamond) ¥ R g Va1 ¥ P

27.

29,

The number of carbon atoms per unit cell of
diamond is

(A) 8 (B) 6

{Ci 4 (b) 1

Which of the following is diamagnetic ?
(A) H, (B) H;

© Hf (D) He;

A bomb of 25 kg mass moving with 10 m/s | :

velocity. Bomb explodes and divide into two
pieces of 15 kg and 10 kg. If big piece
becomes at rest then what will be the
velocity of small piece ?

{A} 20 m/sec (B) 25 m/sec

(€ 15 m/sec (D) 10 m/sec

30. The ground state energy of hydrogen atom

is-13.6 eV. When its electron is in the first
excited state, its excitation energy is
{A) 102 eV {8) 6.8eV

(C) 3.4eV (D) zero

- The oxidation state of Fe in Fe;0,is

(A) +3 (8) +2
) B (D) 1
3
> The pH of 10~ M NaOH solution is
nearest to
A) 4 (8 —4
© —10 oy 7

28

30

31

32

AT @ e B R

(A) g (B) 6

€ 4 (d) 1
R I RyegEey o

W H B Hy

(C) ; (D) He;

25 T &1 S 99 &1 ey v B 10
ﬁ./ﬁ.ﬁvﬁfmwﬁ,wa‘rm
9% O O% | TES b oseme 5
B 3R 0 B 2 o =® o
T 9T W B A OBR THS @1 a7 =
(A) 20 Hr/o (B) 25 A,

© 15 9o/4 (d) 10 /4.

BRI G 1 e s i
-13.6 eV ® | 99 9T ST uw
SIRE ofawen § &Fm, O suet <Son

Wil 8l

(A) 10.2 eV (B) 6.8 gV
© 3.4 gy (0) I
© Fe;0, ¥ Fer B dfefiawor ageer &
A £3 B L2
© 8 B)  +1p
3

107*°M NaOH R & py #m

GRS
A 4 B) _4
© —10 o) 7




33. The reaction B ey CH.CN + 4H Na/C,HsOH
. =R —

CH,ON+4H  Na/C2HsOH .
CH,CH,NH, P&l §
(A) EHEE FAFSS AHihAT

CH,CH, NH, is known as

(A) Hoffmann’s bromamide reaction ®) Aed e
{B) Mendius reaction © gReT s
(©) Parkin’s reaction (D) Sabatier reaction (0) SARER s
s4. Which of the following is a measurement of | 3¢ &= ¥ ¥ oA 9 S ugyl BT Yl
water pollution ? 2
() COD {(8) BOD (A} COD {8} BOD
{©) PSC (D) PCB (@ psC {D) PCB

w
o

35, The voltage gain of an amplifier with 5% 9% ZRUIHD gﬂﬁﬁﬂ BF W Ud CIGRED
negative feedback is 10. The voltage gain %7 dreedr o9 10 Biam § | {9 ESIRCR

without feedback will be % dieedl oTd B
() 100 (8) 10 (A} 100 (8) 10
(©) 1.25 {D) 90 (© 125 (D) 90
3% A nucleus rf‘};emits one g — particle and|® TP =19 ﬂj% Ush -

a2

two [~ particles. The resulting nucleus is 2y B~ == IR Har B ) SO9T &

after emission qegTd T B
(A) m— 6y (B) m— 4y )  m— 6 B m-—4y
n—4 n—2 n—4 n—2
% () m— 6y () m— 4y _ —
B X X ¢ m 6}{ () m-— 4y
37. If the equilibrium constant for 7. gfe Ny + Ogey = 2NOgy

Norey + Ozpsy = 2NQOgy is k, then the
Li=) “i=s 05S

equilibrium constant for

2 Nagg +5 Oage) = NOg) will be - L g 2 NO ™ e
@ 1 ® 2 : “
§k k2 Rerie 8RN
w1 ® 2
© K2 ©) k ia K2
© K2 o K

Page: 10




38. The first excitation potential of sodium is 2.1

w

volt. The maximum wavelength of emitted
light will be
{A} None of these

(B) 6720 A

© 49324 (P) 5893 A
A thin rod of length L and mass M is bent at
its midpoint into two halves so that the

angle between themis 9(°. The moment of

inertia of the bent rod about an axis passing
through  the  bending point and
perpendicular to the plane defined by the
two halves of the rod is

(A) jv—H_,_z (B) 2 -
12 24

(© w12 (0) MI1?
24 6

The energy required to charge a parallel
plate condenser of plate separation d and
plate area of cross-section ‘A’ such that the

uniform electric field between the plate is E,

IS

a) 1 _ (B) 1
5 & B2 Ad 5 €oE?
Ad
(© €, E2Ad (0) ,E2
Ad

38.

AT TRAMY] BT J99 S AWg 2.1

TP Udell BS, sl o™ 4 99

SEM M 8, BT 3HG 7T g 9 90 °
W AT T R |39 S g ve & A

A ERT gt 997 g gl e &
TEl 9T F TAAd S oedq I8 &

R Wi IO BN -
(A MI12 (B 2
M2
12 24
(€ MIZ2 (o) Mi?
24 6

ﬁgﬁdaﬁﬁammqﬁﬁﬁﬁ
T A T | 3H IERE WY we %

da &1 3R T &5 E g9 & | =9
W&HW$MWWN-

(A) 1 (B} 1
2
Ad
© g, E2Ad D) g,E?
Ad

Page: 11
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41.

42.

43.

Curie temperatures is the temperature|4!

above which

diamagnetic material

(o)  Paramagnetic material  becomes
ferromagnetic material
(8)  Ferromagnetic material  becomes
paramagnetic material \
(9 pParamagnetic material becomesi
diamagnetic material |
{p)  Ferromagnetic material becomes'li
|
!

An aeroplane is moving with 80 km/hr |42

speed in North-West direction, while air is
blowing at 60 km/hr in North-East direction. ‘
What is the actual velocity of plane? .
{A) 140 km/hr (8) 100 km/hr \

(c) 20 km/hr (D} 40 km/hr

In figure, B’ is earthed and ‘A’ is kept at| 43

1500 volt. What is potential at pre

SuF 5uF

—“#’—EH o
3.5 uF — \

2uF 2uF ‘1

{A) 7000 volt {B) 750 volt l
{c) 7500 volt {p) 700 volt ‘1
|

1

1

What is the maximum numbers of electrons | 44

that can be associated with the following set

of guantum numbers ?
n=3,l=1landm=-1

(A) 4 (B} 6
€ 2 (D) 10

1
|

aT w®

A sEgEdE e, degERE et

g9 oan ® |

B degEed TEM, FTgEEHT  Gad

g9 i € |

© aﬁ@aﬁﬂwﬁ,qﬁmwﬁaﬁ
S
0 dEgERE uwd, SegEe TaTel

g7 S © |

LG GIES RIS
W—q@aﬁﬁ?ﬂﬁ@@%mmeo

© 20 fpALaTEr () 40 o Ay ravet

ﬁﬁﬁaﬁ‘Bfﬁgﬁr@rGﬁ—ﬂw%

aaryﬁmoa‘{saqu?@lw%!

2uF 2uF

(A} 7000 dleT (8) 750 9l

(€) 7500 dlee (0) 700 dlec
Wmaﬁn=3,l=1,m=—1‘$
o7 Rras aean geleg § Thd T ?
n 4 (B) 6

< 2 (D) 10




B @@

Two simple harmonic motions of angularfi“»

frequency 100 and 1000 rad/sec have the

same displacement amplitude. The ratio of

their maximum acceleration js
(A 1: 104 B 1: 10

© 1: 103 b)) 1: 107

i The number of water molecules is maximum

in
{A) 18 molecules of water
{8} 1.8 g of water

(C) 18 g of water (D) 18 moles of water

The ratio of radius of gyration of a circular
disc to that of a circular ring, each of same
mass and radius, around their respective
axes is

W y3: 42 B 1:42

]

(D) A/

()]

@ 7. 8 1

A person of mass 60 kg is inside a lift of mass
940 kg and presses the button on control
panel. The lift starts moving upwards with
an acceleration 19 m/s?. Ifg= 1p m/s?,

the tension in the supporting cable is
{A}) 8600 N (B) 11000 N

(€) 1200 N (D) 9680 N

The oxidation number of cobalt in
KlCo(C0),]is
A —1 (8) —3

9 +1 (B} +3

47.

49,

q WA smad IREF ST 100 @R 1000
NEUETE P B emgREt e §
T e s wwd | S%
WWWWW

(A) : 104 (B) 1: 10

{c) 1: 103 (D) 1: 102

S IR B ey W= §

A O % 18 3rogelt

(B) 1.8 omH g

© 18 99 9= § (D) 18 A\ A F

wqﬁa%m@vqﬁﬁﬁvﬁm
WWMWW%%W

- I W & IS gRumer Brewrelt @

S ERICEST

(A) V3: 42 (B) 1:4/2

@ Vz2:43 P 21

Q?ﬁeo kg?ﬂmﬁﬁgm kg & forge #
aﬁgﬁa & 97 BT 9N B |

@W%WW%IH%W'&W
g=10=/3 & @ fowe = anm

arelt SR § T\ ghm

(A 8600 =T (B) 11000 =T

(© 1200 =7 (0) 9680 =g
KlCo(CO),] ¥ oHr= (Co) @
Stefta~or e gnf

A —1 B 3

@ +1 ) 13




G

s0. 1f'a’ is the length of side of a cube, the|%0. TH ET R Te Yol &I THETS @
distance between the body centered atom 2| U9 F FE TE A @ IR W

and one corner atom in the cube will be Rerg w0 & g BN
A 3 8 3 w3 B 3
— 4 — & —a —T
- 4 2
© 2 o) 4 . (© 2 o 4 .
V3 3 NE; 3
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- II
MATHEMATICS TR
If complex number z = 1 + | then its polar |51 gfe wfegsy TR 7z =1 + jar ERSEal
form will be g w9 =
(A) 2 i A 57 E_Lf
\7(@5 —,—xsms) \.12(_(:033 } ;sangl
T T _ T
) x?g\ces———;smi (8] V2 (COSL+§SE§}—
4 4/ Y4 4
© B ooa X © Flcos™ _icinE
1’2(‘3932—153}2) MZ(\tosz—;sm?)
(D) None of these o P a5
A and B are two events such that |= s A R B @ gy 8 3R
P(AUB) =", P(AﬁBi}:f, P@=§ P(anﬁa P(ANB) =1,
then P(A~B) =7 ! P@A) = P@EAB) =
g3 &) 5 A 3 ® 5
8 8 3 3
9 % (B) i {c) 1 {D) 5
4 12 y B
n the expansion of {3 _ * " the|®® {5 _ iﬂ}lg b TR 7 aeR U9
LY x=] X x=J
onstant term is (A) 1 (B) 15C9
81 (B) _5c
7 © =, (D) o
B “C, (b) 0

he line x+y=6is a normal to the 5. fHg g W™ ¥ x+y=6 Waad

arabola y? = 8x at the point v2 = 8y W AT BRY 2
E* N W ) @ (s 3
} (4, 2) (D) (2, 4)




-

w |f the equation 2x?—7x+1= g and |® T it 2x2-Tx+1=0 IR

‘! 3% +bx+2. {}haveacommon root, i —!-‘%335-&—2 {)ﬁ‘iﬂ'ﬂ'ﬂﬁﬁ,?ﬁ
then
: (A) = -7 (B EF
(A a=2,b=-7 (8) None of these . a= ?b ﬁ
( 7 D)a=4,b=-14 a= ——,b=1
a= —5,0= ? 2

D g=4b="1

56. 1 a 2 s |1 oa @
Thevalueof {1 b Bp2iis 1 b b* w1 A €
1 ¢ ¢ 1 ¢ c?
(A) ~(a-b) (o-c) (c~2) W -@-b b-alk” a)
(8) (a+b) (b+c)(c+a) ® @+b b+al a)
(©) (a+b)(a—b—c) & @+ b @-b-0
©) (a-b) (b-c) (c=2) © (@a-b k-0
57. The value of 57. tan“1 + tan“i 2 gan? 3 1 A 2
tan’ll-i—taﬂ‘lz ~ tan s :
4 (A 7_£ ®
w T ® T 2 3
| 2z 3 © o o T
©o0 o T 4
| 4
| |! s8. The area of a triangle with adjacent sides 3 |%® gfe st P Gl ﬂﬁﬂﬁ z 3R g
I
F- and B is @r,ﬁrwéawm
() 1., - ® 2R
) - ® 2 _= X
—%FXb\ \axa ZEXb‘ \a b\
© 2.5 D) 1. - —laxb -
’- ' —‘axb\ & %\axb\ | | Z\EXb‘

© Inthe AABC a=4% pb=g8and 2C=60"% aapc H AR a = 4 b = 8 AR BT

then the value of angle B is ,C = 60° qr g @ A B
(A 60° (8 90°

n 60° (8) 90°
{© 45° (o) 30°

() A5° (o 30°
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e

. g1 Rgslt (3, 4, 5) aiR -1, 3, -3)%F

2 The distance between two points (3, 4, 5)

and (-1, 3,-3) is
(A) 6 unit

{€) 8 unit

(8) 7 unjt

& 3t gf @
W 6 sP1g
© 8 gorg

® 7 gor$
®) 9 gor1g

, |
(D) 9 unit !
|

~The gt term in the expansion of | st (ﬁ_i\g ¥ TR ¥ wad o pp—
sx 479, 4  3x
) BT
(A) None of these ~ (B) 168 " g 78 i J68
% X
© 168 x (0 168 © 168 x 0 1ad
—r— P
Evaluate lim @ Iim va+x — ¥‘33ﬂ A9 &
* =0 * x—0 x
) 23 (8) Zi_ W 2y - 1
/ =
2‘)8 Zx,."‘a
{©) None of these ® 1P © P 5 - 1
2ala -
i 2"\«’8
. dy . 33, ?-T,% -1, Eﬁ' dy
fy= sec(tan™'x), then =Zis equal to y = sec(tan™tx), : -
dx = & dx
A %2 ® 1 A B8R
VI—x2 1 4 x2 (A) x? (8) 1
7 2
g x (0) 1 v1—x2 e
V14 x2 —)\jfl T332 (€ X (D) 1
V1 4a3 vi1+x2
lim | . lim
he value of 5oy ’é‘{;fZ{‘SQC x—tanx)is ¥ 3 ?{;"Z{SES x—tanx) ¥ A9 8
) o ) 0 A o (8 o
-1 (D) 1 © - (D) 4



67.

70.

The value of the co-factor of the element 6
4 3 1

inthe determinant {2 5 4 is
g8 0 7

(A) 35 (8) 21

{¢) -35 (p) -21

The acute ;angle between the two planes
2x —y+z=6and x+y+2z= 3is
(A) 45° (8) 30°

(© 60° {p) 75°

How many normals can be drawn from a
point to the parabola ?

(A} 2 (8) 1
€} 3 (D) 4
: _ 1

¥ fl)=x—-3 then the value of
) 1Y+

o)+ £ (3

{A) None of these (8) -1

1 Do

If 2tan?8 = sec?9, thenthe general value
of Bis

(A) None of these ~ (B) o _ i
6
T T
© goprie- @ e=2mmt
4 3
The differential coefficient of

v = log(logx) withrespectto is

(A) xlogx ® (xlogx)™*
@ X o) logx
logx 5

65.

67.

70.

(A) 2 {8) 1
© 3 D) 4
f=r-3 T f@+r(E)
BT A BAT
(A) BI5 T ® -1
© 1 (D) o
- I 2tan?B = sec’® Gl g @
S T ©
R P & ® o_T
'S
s T
tch B=nmt— ") 8=2nmt—
4 3

6 =

R 12 5 :‘, ¥ 99 6 @
g8 0 7

eETs B 79 ©

{A) 35 (B) 21

(&) -35 (o) -21

x+y+2z=3 P 94 AP &

() 45° (8  30°

©  60° o) 75°

Mﬁr—gﬁmﬂwmﬁaﬁaﬁ
W S Gad € ?

y:}ogﬂggx)aﬂ - E7 e JdhA

E
(A xlogx (B) (xlog x) =4
(© ol (o) logx

logx X

Page: 18




i€ centre of the sphere

( 11 2: 1) (D) (11 2; _1)
equation of circle is 72.
+y°+28x +2fy +c=0, then it

ius will be
None of these

\:{gg _:_f2 il

equation of a parabola having focus (3, | 72.

nd directrix » +3=0Qis
B =12y B) y2=_ 12y

1
¥ =12x B} x*= 12y ’

8% term of the series L A/33 s | 74.
20v3 B 2943

173 (D) None of these

Curves y = 2 and xy =k cut at| 7.
angles, if

k=1 (B) gk2 =1

E=1 D) 8k2 =1

'stance between the parallel lines
¥+4and 6x =3y+5is

®) 17v5/15

(b) 1

%5

/3

76.

3% +3y%+ 322 bx—12y+ 62420 B
% P e §

(A (0, 2, -1) B (1, 2, 1

@ (1, 2, 1) 0) (1, 2, -9)

I gT@ @ e

¥ +y’ +2gx + 25 +c=0 W, @&
Bl B e/

(A) B T8 (B)f-gz 1f2 1 2
(C)si:"gz +f2 _ ¢ (D)\;’gz f2 1 ¢
WRIeTT BT |4, Rrga) (3, 0) 3R
Froem &1 vl L4 0%

W x2 =12y B yE= 49y

@  y2=124 @) x2=_12y
a0, 3,08 1 8df ye &
W 2043 B 293

@ . 2773 0) g T

9P y= 42 IR v =k

P MBI R FIEA g,

) B gkZ=1
© 2k2=1 ) gk2=1
NI S SO
6x=3y+5 % 41T & g &

W 355 ® 17515
© 17473 (D) 1



78.

79.

81.

The number of zeroes at the end of {_7_(’_} is

(B) 16
(D)5

(A) 70
7

If w is a complex cube root of unity, then the
value of the determinant

1 W W
A=W W2 1|is
w2 o1 W
(A) W2 8 0
©1 (D) w
i y=[eevieaZ]"  then

(1 + x?)y, + xy, isequal to

{A) m2y2 (B) mzy
© my? {D) None of these
The value of the series
B +PC + e +8C, 0
(A) 215 _1 @) rges
& —pis D) 215 +1
n/2
The value of J!ogtanxdx is
0

Ay T (8 ™

= —log 2

4 g 8
i ® ) 0

2

W~1_gé7ﬁﬁ§aapﬁa%¥i@r%

78. gfe Wmﬁmw—&ﬁ?ﬁ

IRP &1 79 ®
1w w?
A={w W2 1
w? i w
Ay W2 (8) ¢
€ 1 D) w
5 ¥y= [x+w‘1+x2]m Sl
(1+x)y,+ xy, T ATE
(A} m?y? (B) m?y
@ my? (D) B T8
80. gyofy
B, +5C, 4 PC, oo +15C, P A
il
{A) 215 —% {B) 23.5
[{s}] __215 (D) 215 =1
81. /2
jiogtanxdx?ﬁr A 7
0
(n T ® T
— —log 2
2 g %
@ T © o
2

() 16
D) 5

(A) 70
e 7
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tvalue of {e”-sinbx dx is

33_‘2:

. S:,. "__‘f L 4
2152 (asinbx —beosbx) + ¢

a
Vone of these
esx
= 5 (asinbx +bceosbx) + ¢
a‘ — p?

82. { &2

(asinbx —bcosbx) + ¢

(© & _
e =z (asinbx +bcosbx) + ¢
{acosbx + bsinbx) + ¢
a% 4+ b?
(D) e* ) S
7z (acosbx+ bsinbx) + ¢
rr and degree of the differential|ea G ﬂTﬂW
d.v ( N are L : @ PR ar
=+ () Hadt=]
and 2 (8) 1and 4 %
and 4 (0) 1 and 2 A 4 3R 2 ®) 1 3R 4
@ 2 8R4 ) 18R 2
solution of the differential equation |84 3IgqdHel TSI
)L i1+ y2=0,is I+ x) =414+ y2=0 BT 5F &
tx+ tanly =tan~l ¢ A tan~lx + tan~ly = tan~1 C (
M lx— fanly =tan~1 C B) tan™*x — tan~ly = tan~t C 5
My — tan 1y = tan~1 C © tan 'y — tan~'x = tan~i C
ine of these D) w1 =
112347 85. [1234°
ink of the matrix Azt ,is SATE A = | B Bife ®
14321 * J_ 4321/
(8) 2 (A) 3 (8] 2
(D) 1 € 4 (D) 14
232 f<r 32 a5 _ =32 G =
ci of the ellipse -2 L IF27 g8 drhgg &3 G+2 =1 @ -RET
38 is 35 is
g
+2+/5 -2 ) (B) None of these (A) (3 +2v5 2 )
—2) ®) (3+2v5,2) ®) P57
@ G-2) ® (31352)
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8. The parametric co-ordinates of the|s”. AR 2 P _ . ¥ uafye
2 2 2 2
hyperbola %= _ ¥ _ 4 = b
yperbola = % — s | o
() (asecB btan0)(® (acosh, bsing) (A)  (asecB btan8)
© (—asecH,btang) B  (acosB, bsinB)
D) (asecB,—btans) ©  (—asecB btang)
) (asecH, —btans)
e PR 3 -5
1 fA= . & |, then the value of | TR A= At AT a2_54 B
A? —5Ais AT BT
A B
A M4 o7 (8) None of these ® [14 2 T ®) Pz Tt
0 14! 0 14
© ri g ® o o © 10 (D) o 0‘;
0 1l [0 o! o 1! o o
8. /2 cosx r/2 R
i ‘Dl HIT
‘ The valie of g esinx+ecasxdx’5 !; esinx_g_ecesxdx g
w T 8 T @ T ® T
4 4 4 4
© () T © T o T
2 > 2 2
. 54 term of an A.P.is (-61) and 4t: term |s0. Jf¥ WA A BT 544 YT (-61) AR
is 64, then the value of 2374 term will be 49T 9T 64 &1, A1 BT 239 ug BRI
A
(A) 35 (8) 33 A § (&) 3;_3
2 2 233
) 33 (o) 33 @ —_— (D) §
2 4 g *
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or any three vectors 3 g c the value of
7

C — > — D —> 7>
" 36d 0 ™ 3B 3

he Total No. of ways in which 30 mangoes
an be distributed among 5 persons is

y g30 (8) 3°C,
3 xC, (D) 345

P ¢ . ; }

he curveZ— & 2 — 9 touches the line
n ! B

a

I (1, 1) (©) (b, a)

1e value of “jj g {iiké is

[ (8) [ijk]
0 (D) -1

& and B are two square matrices. Then the
lue of

B)T
_ATRT (8) AB
BTAT (D)A=0,B=0

(A) {gg a (8) o
(C) 3 7~ D) - —= =
2[ab ] {a b c]

8

i I

1Y _ o o vl o

an bn

W11y ®) (a, b)

b’/

@ @ 1 ) (b, a)
i) + [jik] & 719 ®

¥ it B ¥

(A) j 8 [ijk]

© o (D) —

95-H%A3ﬁ?Bﬁﬁ3ﬂa1€§‘r,a\T (AB)T

ik i
(A)  _ATBT (8) AR

(€) BT;’%LT (D) A= 0, B=20




9. The length of the latus rectum of the ellipse

36 49
(A) 98/6
€} 72/14

97. Thelines
x=-2  y-3

i 1
are coplanar, if
Ay k=1,-1

©k=0,-3

%8 If C, =%°C__,then thevalue of ris

(A) 3
(€ 4

E’:gf_.}_zf(, then the value of [g g E’]

— % = = - 2 7 "
a=3i-3j—4k, b=i+2j+kand

(8) 98/12
{0} 72/7

(B) k=3,-3
P k=0,-1

(8) 5
(D) 2

T B SIS
3s 49

RIS
(A} 98/6 (8] 9g8/12
© 7214 (D) 72/7
o7. V@
x2_ y-3_ z4 IR
1 1 =k
FI_ ¥R 2 geaehw Brf) afe
oz 1 ’
AW k=1 _4 B k=3 _3
© k=0 _3 P k=0 -1
Y 5C, ¢ _ A r B AN

(A) 3
{C) 4

(8) 5

(D) o

ga, s ~ ~ a — - ~ ",
afe a=3i-3j—-4k- b:i+23+ke’m

c=3i-j-2k, @ {g‘ga BT AN

(A) 5
€ -5

(8) 4
(D) —4

is
{A) 5 {8} 4
(¢} -5 (D) -4

100.

A (14e%)2

© —e¥. (14 e%)3

(D) g*

. & ‘ d2xy .
If vy =x + e“then {Z=Z1is equal to
dy2

B) —e*(1 +e¥)2

100. 2
?T% y:x_{_ex?h E

DI HT
dy?

BRI
A (1452

B —e*(14+e¥)2
@  —e*-(1+e%)3

(D) e

Page: 24




